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Vision screenings for driverʼs license renewals 
will be required in 2025 to enhance driver safety
Herald Report

Few things are more im-
portant for safe driving than
good eyesight. That’s why
vision screening will be re-
quired in Kentucky next
year for anyone renewing a
Kentucky driver’s license.
This new requirement, en-
acted during the 2021 Gen-
eral Assembly, aims to
promote highway safety by
ensuring that all drivers
maintain good vision
throughout their driving ca-
reer.

Starting January 1, 2025,
all Kentuckians must un-
dergo a vision screening to
renew their license. Multiple
states also have adopted
mandatory vision screen-
ings, including Indiana,
Ohio and Missouri, to en-
sure drivers have the visual
acuity required to operate a
vehicle safely.

"Driving is a privilege
many of us enjoy and this
best practice is one way we
look out for each other on
the road to make our high-
ways safer for everyone,"
said Gov. Andy Beshear.

House Bill 439, signed
into law by Gov. Beshear
after the state legislature
passed it three years ago,
now takes effect on January
1, 2025. Key details of the
new vision screening
process include:

• Vision screenings can be
completed at no cost at any
Kentucky Transportation
Cabinet (KYTC) Driver Li-
censing Regional Office at

the time of license renewal
and, on average, takes less
than 1 minute to complete.

• Drivers also have the op-
tion of conducting a vision
exam with their vision spe-
cialist (optometrist/ophthal-
mologist), or a vision
screening with a KYTC-cre-
dentialed osteopath, physi-
cian, or advanced practice
registered nurse in advance of
their license renewal visit.
Starting in 2025, upon re-
quest, the medical profes-
sional will complete an
approved state-issued form
that they will give to the pa-
tient if they pass. The patient
may bring the form to their li-
cense renewal visit if the
form and exam were com-
pleted within 12 months of
the license renewal visit. The
driver will not need to take a
vision screening at a regional
office. 

• If a driver does not pass
the vision screening at a re-
gional office, they will be in-
structed to see a vision
specialist for corrective
measures before proceeding
with license renewal.

• Kentuckians are encour-
aged to bring corrective
lenses if conducting a vision
screening at a regional office.
A restriction will be placed
on your license if you pass
the vision screening while
wearing glasses.

• Vision screenings can
only be performed once at a
regional office during each
renewal cycle.

• Online and mail-in dri-

ver’s license renewal will still
be available after Jan. 1, 2025
for Kentuckians who choose
to complete a screening with
a vision or qualifying med-
ical specialist. The cardholder
simply needs to upload the
official, signed form provided
by their medical professional
when renewing on
drive.ky.gov.

"We know this will be a
change for license holders
when it’s time to renew every
four or eight years, but it’s a
measure driven by safety, and
that’s something we can all
get behind,” said Transporta-
tion Cabinet Secretary Jim
Gray. “People are the most
precious cargo on our roads.”

Existing state law allows
Kentuckians to renew their
driver’s license up to 180
days (roughly 6 months) be-
fore their card expiration
date. It is strongly advised to
renew early should any cor-
rective measures be needed to
improve vision while their li-
cense is still valid. During
every renewal cycle for driv-
ers 21 years of age or older,

cardholders have the option
of choosing a driver’s license
valid for four or eight years.

Appointments for license
renewals are strongly encour-
aged to minimize wait times,
although walk-ins will still be
accommodated. No separate
appointment is needed for the
vision screening.

“Clear vision is essential
for making safe decisions on
the road,” said Kentucky
State Police Driver Testing
Branch Commander Captain
Chris Baker. “Mandatory vi-
sion screenings have been a
longstanding requirement for
all first-time drivers and ex-
panding this to all drivers is a
practical way to make roads
safer for everyone."

“Comprehensive eye
exams are crucial for detect-
ing impairments that could
compromise driving ability,
while also detecting other se-
rious health conditions,” said
Leslie Cecil, O.D., President
of the Kentucky Optometric
Association.  “This new vi-
sion screening requirement is
a significant step in safe-

guarding public health and
road safety.  Our organization
looks forward to collaborat-
ing with the Transportation
Cabinet and other vision spe-
cialists to help implement
these new requirements.”

“The Kentucky Academy
of Eye Physicians and Sur-
geons (KAEPS) supports the
new requirements for vision
screening in order to get a
driver's license in the Com-
monwealth,” said John
Franklin M.D., President of
KAEPS. “Our association
believes it will keep Ken-
tucky's roads safer and ensure
individuals get the vision care
they need. We also appreciate
the Administration’s commit-
ment to implementing the
legislation in a way that helps
the public understand the
new requirements, why they
are needed and how to com-
ply. Our physicians will con-
tinue to work closely with the
Administration and legisla-
tors as the new rules take ef-
fect." 

The Education and Labor
Cabinet’s Office of Voca-

tional Rehabilitation’s
(OVR) existing Bioptic
Driving program helps eligi-
ble Kentuckians with certain
visual impairments earn
their drivers’ licenses. Using
a combination of regular
eyeglasses and a small tele-
scopic lens system, bioptic
driving improves the
driver’s distance vision, al-
lowing them to meet the
state vision test require-
ments to safely operate a ve-
hicle.  To learn more about
the qualifications and re-
quirements for participation
in the Bioptic Driving Pro-
gram, visit OVR’s website.

For more information on
the new vision screening re-
quirement and how to pre-
pare for your driver’s license
renewal, visit drive.ky.gov/vi-
sionscreening. Kentucky
CDL carriers with a valid,
unexpired license are exempt
from conducting a vision
screening when renewing
their license as their annual
required medical certification
process includes vision
screening.
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Paid for by candidate.Paid for by candidate.


